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Questions ONE to FIVE: Choose one answer for each of the parts 1 to 4.

g QUESTION ONE 1 2098 QUESTION TWO i
large intestine 000 0| |er o000
liver 0D oo eye e 9 6 0
pancreas 0 0 0O nose (o 38 c B « B
small intestine C 0 0 0 hskin ol o R o T o

QUESTION THREE 12 3 48 i QUESTION FOUR 1 2 3 4)
controls passage of water into the cell O 0 0 O amino acids = J00N = S o Lo
moves the egq 0 G 64 liver o.g Q O
nucleus S 0 00 lungs 0.9 a0

_where most chemical reactions occur 0 0 o o) | respiration 0 0 0 0
i QUESTION FIVE 1. 2.8 4
blood plasma g a o
platelets 0 O 0.0
stomach wall o0 00

Ikti'ui: small intestine D oo g
Questions SIX and SEVEN: Choose two answers for each question, - -

( . QUESTION SIX =
antibiotics from the white blood cells o |-
antitoxins from the white blood cells o
Jile from the liver (o]

| red blood cells o

[_ the skin o |

o = ~ QUESTION SEVEN o
can reproduce outside of living cells | o
cell membrane =
cell wall o
protein coat O

b smaller than bacteria o
Questions EIGHT to TEN: Choose one answer for each of the parts 1 to 4.
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b Instructions on how to complete this answer sheet are given on the question paper . Please make sure you follow them carafully ‘

Questions ONE and TWO: Choose one answer for each of the parts 1 to 4.

, QUESTION ONE 12 3 4 QUESTION TWO 2 3 %
i blood plasma 0 © 0 O ‘ amylase e |
| platelets 5 0 0 0 bile = i W=
| stomach wall 5 6 o o ‘ hydrochloric acid 8 o B8 ‘
| the small intestine o o o of |lipase lo 0o 0 o)
Queshnns THREE and FOUR: Choose two answers for each question.
QUESTION THREE ———
“can reproduce outside of living cells 0
cell membrane 0
cell wall (o
protein coal o]
. smaller than bacteria (@]
= QUESTION FOUR )
| it can cause lung cancer o
it combines irreversibly with haemoglobin =
| it combines with oxygen to form carbon dioxide o
it dissolves in water to form an acid Q|-
. it stops red blood cells carrying oxygen -3'_) :
Questions FIVE to TEN: Choose one answer for each of the parts 1to 4. =
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